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Let’s examine what happens when n=12.

To determine if a number is a totative of 12, we need to check the 
greatest common divisor of 12 and each integer less than 12; a gcd of 1 
indicates that the two numbers are relatively prime, and the smaller 
number is a totative of 12. Note that the proper divisors of 12 are 1,2,3,4 
and 6. 

gcd (1,12)=1 gcd(2,12)=2 gcd(3,12)=3
gcd(4,12)=4 gcd(5,12)=1 gcd(6,12)=6
gcd(7,12)=1 gcd(8,12)=4 gcd(9,12)=3

gcd(10,12)=2 gcd(11,12)=1

The gcd test reveals that 1, 5, 7 and 11 are the totatives of 12. Charting 
these numbers we can see that they are not clustered together but are 
distributed over the interval. How can we determine what type of 
distribution this represents? 

If we divide the interval [0,12] into equal subintervals we can see if the 
totatives fall evenly into each section. Here we have divided the interval 
into 4 such subintervals. Divide 12 by 4 and you have intervals of width 3.

The graph shows that each interval contains exactly one totative. When 
each subinterval contains the same number of totatives, we say that the 
totatives are uniformly distributed with respect to k where k represents 
the number of subintervals.

The goal of Lehmer’s paper was not to test every number n and every k
subintervals for each n, but rather to arrive at a general formula that 
could be applied to any n.
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